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1. BEBHOR
(1) #EEUNE
HEARUESERLE 5,000 5,000 0
EAFEZRAL 5,000 5,000 0
HEEEERE 1,440 1,246 194
BEEESIAIS 1,440 1,246 194
F R 784,183 785,176 A 993
FHRIREE 784,183 785,176 A 993
AR 261 261 0
SEH R 261 261 0
BEINIEE 790,884 791,683 A 799
(2)R=EER
ESS -, 721917 724147 A 2,230
% B A 22,421 22,421 0
WWHFEL 308,185 304,164 4,021
BEBATE A 11,950 13,152| A 1,202
ERERNE 40,048 39,505 543
BRELE 5,200 5,100 100
Bk 1,410 1,590| A 180
SEE 10,740 5,100 5,640
REXEE 18,490 28,440 A 9,950
BAmEIE 1,293 1,297| A 4
BIEERE 19,370 19,635| A 265
HEMRERE 880 1,285| A 405
HERE 8,660 8,360 300
REE 768 808| A 40
FNRI S AR 14,795 11,900 2,895
EREFEAN 26,938 26,948 A 10
FEOKFE 2,783 2,863| A 80
&R 5,628 5658| A 30
BEE5|HeEA 6,670 7,052 A 382
L& 47,010 43,100 3910
E2/N:ulo% 25,525 25,525 0
2 /N=EE 29,900 33,930 A 4,030
Fit&E 105,443 108,554 A 3,111
HE 7,810 7,760 50
FHE 82,503 72,407 10,096
d=F| 7,473 7473 0
WHRFEL 16,728 17,554| A 826
BREHE T E 2,227 2377 A 150
EERTE 3,732 3835/ A 103
EFEEE 300 300 0
Bk 2,700 3,300| A 600
SEE 500 1,000| A 500
REXBE 1,800 2,400| A 600
AT {E N 298 299 A 1
BIEERE 800 975| A 175
HEMSRERE 50 125| A 75
HERE 250 250 0
REE 162 162 0
ENRIE AR 325 450| A 125
EREFEAM 6,649 6,649 0
FEKFE 337 337 0
& 562 562 0
EESIHEBA 2,223 2,351| A 128
FHBAOER 34,000 19,000 15,000
RitE 87 1,008| A 921
HE 1,300 2,000 A 700
BEER 804,420 796,554 7,866
LEARR BRI A 13,536] A 4871[ A 8,665
2. BENEROL 0 0 0
(1) BEN IR 0 0 0
(2)BENER 0 0 0
LEIR RS MEREE 0 0 0
L HAFR 5| AT — A% IE DR B4 EE B4R 0 0 0
EANB-BERRUERR 155 300[ A 145
EATREELE 0 0 0
1t HA— A0 TF R B AE BRI %E A 13,691 A 5171[ A 8,520
—RERBER SRS 1,044,911 1,050,082] A 5,171
— AR IERRBTEEARIR S 1,031,220 1,044911[ A 13,691
I $5E IERRBAE 0 0 0
L H 5 TE IE R BA EE 1 R AE 0 0 0
EEERMESRERS 150,000 150,000 0
IR R RS 150,000 150,000 0
IT & HAIF REAEEEAR A 2 1,181,220 1194911 A 13,691




